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)G A SR 21,734 4.2 27,294 6.7 49, 028 5.6 48, 728 4.9
A - B 56, 600 1.5 46, 928 3.3 103, 528 2.3 149, 719 3.3
o= w8 2,938 8.2 3, 039 2.0 5, 977 4.9 148, 630 3.9
i) = 10, 800 2.0 9, 855 1.5 20, 655 1.7 153, 973 3.9
F FE Ok B 9,172 3.5 6,213 1.4 15, 385 2.6 147, 890 3.9
Ok B ® 15, 302 1.4 9,977 0.8 25, 279 1.1 158, 891 3.1
ST = S 12, 510 2.7 9, 509 0.9 22,019 1.9 149, 157 3.1
B & K E 21, 396 3.3 12, 046 2.2 33, 442 2.9 135, 949 3.3
# Jois 28, 282 3.1 22,082 2.1 50, 364 2.7 957, 497 3.9
ook m w 71, 258 3.0 32, 965 2.6 104, 223 2.9 135, 748 2.0
=G, A NI =) 11, 100 2.2 7,051 1.8 18, 151 2.1 125, 305 2.0
T = ] 3, b64 5.6 2,236 1.3 5, 800 3.9 122,723 19
¥ = 9, 358 3.1 3, 352 3.6 12,710 3.2 125, 839 2.0
[ 1 | = N | 4,352 -3.2 3, 066 1.2 7,418 -1.4 126, 733 2.0
= ii5a 2,710 0.7 1, 495 1.4 4, 205 0.9 127, 927 2.0
U 5 AN % 21,170 3.2 14, 414 2.5 35, b84 2.9 135, 841 9.9
W fEl 2,944 6.1 2, 550 0.7 5, 494 3.5 134, 604 2.0
ook sl 1, 956 0.2 1, 831 0.2 3, 787 0.2 134, 277 2.0
h il 3, 508 1.8 3, 394 0.8 6, 902 1.3 135, 023 2.0
®oopk B 5, 480 3.7 5, 206 3.4 10, 686 3.6 138, 513 L9
i feh 2, 650 8.3 2,761 1.1 5,411 4.5 140, 166 1.9
- A AR v 54, 936 0.2 39, 571 1.1 94, 507 0.6 196, 448 13
X # BT F 2,122 5.4 2,667 2.3 4, 789 3.6 194, 834 L2
o B B 7, 840 3.7 12,771 1.2 20,611 2.2 195, 507 12
2R bESS 5, 634 1.5 5,272 0.0 10, 906 0.8 192, 990 1.9
Bk H# OB W 33, 232 1.9 26, 328 1.7 59, 560 1.8 203, 227 0. 4
o KA R 23, 278 2.2 11,427 0.9 34, 705 1.8 180, 481 0.1
5z b3l 16, 568 1.4 7,946 0.6 24,514 1.1 163, 143 0.0
N T & & 27,186 1.3 19,657 -0.2 46, 843 0.7 138, 525 0.1
Bk K OH 7,634 1.1 4,853 -0.9 12, 487 0.3 130, 839 0.0
i a5} = 32,396 -1.5 21,404 -0.5 53, 800 -1.1 111, 693 0.4
& pESS 9, 332 0.8 6, 938 0.0 16, 270 0.5 102, 023 0.3
A ) N 13,2101 -0.8 8,763 —4.2 21,963 -2.2 87, 099 0.9
U A == R == 12,434 -0.8 8,205 -1.2 20, 639 -1.0 79,423 1.4
IO A = 11, 386 0.3 7,403 -1.3 18, 789 -0.3 59, 955 2.4
( A)iaiﬁ?ﬁi@iu; EmiE | (o | | 0T | e | ol
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K &= A 204 4.7 167 0.0 371 -2.6
N ) 59, 705 2.4
ORk W ox It 3, 7182 1.9 3, 025 1.7 6, 807 1.8
55,939 2.7
= B B HE 1,884 -0.5 7441 -3.0 2,628 -1.2
55, 445 2.7
N H o k- 6,616| 8.9 5,986| 4.8 12, 602 6.9
53,474 2.5
MOk Bk H 20, 246 2.3 16, 678 3.3 36, 924 2.8
28, 891 5.2
7o g E 2 v oL 3, 826 4.8 11, 467 9.1 15, 293 8.0
13, 683 2.2
ROH 2 % 6,006 4.8 7,586 0.1 13, 682 2.2
(W g B )
1,725 0.4
i) & H 924 0.2 799 0.8 1,723 0.5
( # k= &)
i i 148, 626 3.5 67, 891 3.0 216,517 3.3
216, 522 3.3
o A 11, 222 3.1 7,740 2.5 18, 962 2.8
209, 194 3.4
\ s 7, 648 4.8 4,345 2.4 11, 993 3.9
203, 364 3.2
| D4 S 9, 640 3.1 6, 097 3.9 15, 737 3.4
195, 775 3.2
) A VA 1 27,048 3.4 11, 808 0.5 38, 856 2.5
180, 271 3.1
( 4 B )
31,616 2.1
S X 4,428 3.4 5, 622 9.7 10, 050 0.
25, 883 1.7
O 4 HT 16, 448 1. 9, 433 1.7 25, 881 1.7
( F+ E ®)
56, 887 1.9
= OE K 9B 8, 742 4.7 7, 555 4.5 16, 297 4.6
48, 551 2.1
O B OE 5, 656 1.0 2, 550 1.0 8, 206 1.0
44, 008 2.4
iy W, i 2,036 2.8 1, 986 2.0 4,022 2.4
3 42, 284 2.4
o Ok W O®E 3,770 1.7 3, 228 0.7 6, 998 1.2
41, 781 2.4
Fr e n = 4, 492 7.3 3,032 -0.2 7,524 4.1
40, 521 1.9
i 2% = 1, 356 7.8 1,275 -3.3 2,631 2.1
3 40, 215 1.9
#r I 3 844 1.7 985 2.4 1, 829 2.1
39, 335 1.8
Wk T o1E 15, 180 2.2 13,017 -1.9 28,197 0.3
31, 580 3.5
T # ok 10, 622 5.1 7,239 0.9 17, 861 3.3
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C + K #)
21, 368 2.8
+ 3 S 2,470 7.5 2,437 -0.5 4,907 3.4
17,719 2.7
N o & 1,616 1.4 1, 208 0.2 2,824 0.9
15, 272 2.8
= Aif 3, 260 5.1 1,716 1.9 4,976 4.0
10, 678 2.6
Boow A B 3, 196 4.8 1, 835 0.8 5,031 3.3
5, 826 1.9
Hoox 5 B 3,778 2.7 2,047 0.5 5, 825 1.9
(kM 22 8 5% )
4 28, 583 .6
W /N = 1, 660 2.9 2,590 6.8 4, 250 5.2
31, 486 .0
ST S N 2,370 0.7 2,106 5.2 4,476 2.8
33, 331 8.5
TH=—o—Hyhf 3, 196 1.6 1, 781 4.0 4,977 2.4
25,811 10.9
Fl g B KR E K 700 7.7 604 8.6 1, 304 8.1
) 25,415 10.9
| = I S | 698 1.5 733 1.7 1,431 1.6
24, 274 11.4
e P o2 v oL 546 -0.4 12, 400 16.5 12, 946 15.7
11, 156 6.7
K om 4= Bk 900 15.1 10, 255 6.0 11, 155 6.7
& 2 921, 698 2.4 650, 426 2.3 1,572,124 2.4




